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1. Heidi is often late to work and refuses to change, so her boss decided to her.
A.ascend B.refund C.omit D. dismiss
2. Benson received the last week, but he has yet to complete it.

A.assign B. assignment C. assignable D. assigning

3. The company has recently opened a new branch downtown; , it hasn't been very

successful so far.

A. however B. therefore C.instead D. possibly

4. 1 think that your past presentation has on the Intranet.
A. been posting B. her post  C. posted D. been posted

5. Asthe projectisnearing |, we need to start thinking about how to present it to the
manager.
A. completely B. completion C. complete D.completing

6. Thanks to telephone and video conferencing, employees in branch offices around the world can
easily  each other.

A. dedicate themselves to B. convince themselves of C. communicate with D. prosecute

for
7. The packages up in several days because of the drivers’ strike.
A. aren’t picking  B. won’t pick C. haven’t picked D. haven’t been picked
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10.

I1.

12.

13.

14.

15.

16.

17.

18.

The of knowledge requires patience and perseverance. There is no shortcut to learning.
A. acquisition B. clarification C. sequence D. condolence

Those interested in the position must  their applications in writing by the end of the
week.

A. substitute B. submit C. insert D. associate

The board is still not about the proposed merger, as several questions regarding its

long-term impact have not yet been answered.

A. conducted B. convinced C.condensed D. consumed

Betty a report before she went to work.

A. had written B. will write C. has written D. wrote

Stock market analysts ~ the drop in share prices to fears about European economies.

A. distinguished B. attributed C. exposed D. convinced

Though lownacar,I  to work using public transportation because it’s cheaper and better
for the environment.
A. transfer B. exchange C.travel D.commute

You will be provided  an extensive handbook at the start of the seminar.
A.for B.with C.in D.to

Weneedto  the entire company of the new training policy.

A. disseminate B. inform C.speak D. address

David suggested ~ customized products for specific customers.

A.provide B.toprovide C.provided D. providing

Retailers are blaming poor sales figures ~ the recent bad weather and say shoppers are
staying home to avoid getting wet.

A.for B.on C.by D.to
If customers are not happy with their , the store will refund their money.

A. purchases B. concerns  C. positions D. measures FET-F ..
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20.

21.

22.

23.

24.

25.

26.

27.

28.

Summer is a much season for us, so we'll definitely see more profits over the coming

months.

A.busy B.busier C.busiest D. business

The replacement for the receptionist

week.

quit earlier this month will arrive at the end of the

A.which B.who C.whose D.whom

A full-time employee who has been with the company more than 3 months is for

healthcare benefits.

A.mobile B. flexible C. eligible D. visible

Mr. Harvey works at the company's head office,

A.which B.when C.what D.who

Ms. Watson's manager has asked her to take

replacement arrives.
A.away B.off C.into D. over
The signed application form should be

A.handedin B. givenup C. put out

The CEO announced that he has bought out our

at the front desk.

D. turned down

A. enterprise B. administrator C. competitor D. finance

is located in London.

her colleague's work before the

and we will be merging with them.

Warren Buffett, one of the world's richest men, has decided to give away 85% of his to

charity.

A. fortune B. fortunate C. fortunately

D. misfortune

If you want the boss to consider your idea, you need to stress how it will the company.

A. benefit B.register C.increase D.

While some think that the employee of the
effectiveness.

A. motive B. motivation C. motivates

interact

month award

D. motiveless
3

workers, others dispute its
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29. We need to have the report written in both English and Chinese, so pass it on to the
when you've finished writing it.
A. advertiser B. translator C. accountant D. subscriber

30. Long-term profits are only likelyto ~ if we spend more on customer research and
marketing.

A.increase B.widen C.boost D. progress
31. The project was to failure because of a lack of planning and insufficient manpower.
A. motivated B. doomed C. adapted D. confined
32.Hewas  for being drunk and out of control.
A.replied B.arrested C. offered D. fault
33.They  a great circle around him.
A. formed B.ignored C.interviewed D. insisted
34. Most people judge a person by his .
A. appearance B.trade C. division D. official
35.The  went well and I got the job.
A.interview B.error C.manner D. choice
36. Don't let other people  your decision.
A.mix B.influence C. goal D. gather
37.  the books on the floor and put them on my desk.
A. Project B. Collect C.Hang D. Arrest
38. I asked him a question, but my friend did not give mea
A.spirit  B.secret C.reply D.regard
39. This expert can advise you on how to get  for personal injury or medical negligence.

A. compensation B. concession C. confession D. conviction
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40. Amy should rewrite her composition because her supporting ideas were with the main

idea that she stated, which made the whole composition strange.

A. intellectual B. definite C. compatible D. contradictory
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Dear Customer,

We would like to thank you for your continued support of Fashion Trends magazine.
Starting this month, we will be giving away annual ---41--- to five lucky people every
week! To register, please log on to www.FashionTrends.com/giveaways and enter your
name for a chance to win. Five names will be drawn every Friday morning from entries
---42--- the previous Saturday through Thursday. ---43---, if you’d like a better chance to
win this wonderful prize, we will allow you to keep re-entering every week! ---44---
Sincerely,

Your FT Team

41. A.anniversaries B. entrepreneurs C. subscriptions D. manufacturers
42. A.collect B.collected C.collective D. collection
43 A.Instead B.Asaresult C.Bycontrast D.What’s more
44. A. Don’t risk your money, and give us a call today.
B. T-shirts will be on sale at 50 percent off until the 15%.
C. Mark your calendar and don’t miss this special day.

D. Please note, the registration is limited to one entry per person per week.
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Teek Foods Q3 Profit Up, But Below Estimates

Teek Foods said today its fiscal third-quarter earnings were up more than two
percent over the third quarter last year, but Wall Street analysts were looking
for a higher number.

Teek posted a third-quarter profit of $92.2 million, or four cents per share,
compared with a profit of $89.7 million, or three cents per share, in the same
quarter a year ago. Revenue came in at $407.3 million, compared with $398
million a year ago.

Analysts were expecting earnings of five cents per share on $414 million
revenue.

The company said the poor economy had cut into its high-end frozen foods

business and the cooler summer had slowed sales of its soft drink lines. But
“with a new pricing strategy and new winter products due on store shelves,”
the company said in its earnings release, “we expect to make up quickly for
any lost ground this quarter.”
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45. What was the main point of Teek Foods’ announcement?
(A) Why it was launching new products
(B) Earnings over the last three months
(C) Why soft drink sales had declined

(D) How much its profits were down

46. What was Teek Foods' third-quarter profit in the current fiscal year?
(A) $89.7 million

(B) $92.2 million
(C) $407.3 million
(D) $414 million

47. How does Teek Foods' third-quarter profit compare to the same quarter a year ago?
(A) It decreased by two percent

(B) It increased by two percent
(C) It remained the same

(D) It decreased by five percent

48. What was the revenue in the current fiscal third quarter compared to the same quarter a
year ago?

(A) $89.7 million
(B) $92.2 million
(C) $407.3 million
(D) $398 million

49. Which factor does Teek Foods NOT attribute to the lower-than-expected earnings in the
third quarter?

(A) Poor economy
(B) High-end frozen foods business decline
(C) Cooler summer

(D) Increased demand for soft drinks

50. According to Teek Foods, what do they expect to help recover any lost ground in the
current quarter?

(A) Lowering product prices
(B) Introducing new summer products
(C) Implementing a new marketing campaign

(D) New pricing strategy and winter products



